Rav Adda Tekufat Nisan (Spring Equinox) minus molad of Nisan

Hebrew Calendar mean year = Tekufat Adda mean year = Traditional Molad interval x 235 months / 19 years
= 365 days 5 hours 55 minutes and (25+%/5; seconds or 7+/;4 chalakim)

8/19: molad — 12 days 20h Om 31+53/57s s
19/19: molad - 11 days 6h 42m 25+25/57s <
= 11/19: molad - 9 days 17h 24m 18+54/57s X
.‘é’ 3/19: molad — 8 days 4h 6m 12+26/57s X Year 8 of 19 (minimum)
5 14/19: molad - 6 days 14h 48m 5+55/57s
S 6/19: molad - 5 days 1h 20m 59+27/57s Nisan molad moment
g 17/19: molad — 3 days 12h 11m 52+56/57s
2 9/19: molad - 1 day 22h 53m 46+28/57s X—Equinox - molad difference
E 1/19: molad - 9h 35m 40s 3K
% 4/19: molad + 2 days 17h Om 32+56/57s X
+= 15/19: molad + 4 days 6h 18m 39+27/57s X .
i y N e=\ear 16 of 19 (maximum)
% 7/19: molad + 5 days 19h 36m 45+55/57s X
= 18/19: molad + 7 days 8h 54m 52+26/57s X _
© e===Nisan molad + 16 days
8 10/19: molad + 8 days 22h 12m 58+54/57s X
< 4
>  2/19:molad + 10 days 11h 31m 5+25/57s Vo
© .
O 13/19: molad + 12 days Oh 49m 11+53/57s This pattern repeats
N2 exactly for every 19-year
5/19: molad + 13 days 14h 7m 18+24/57s Vo cycle, forever, with zero
16/19: molad + 15 days 3h 25m 24+52/57s > long-term drift.
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Exact vertical interval = %/, molad interval = 1+°7%%°%/,4,,0, days = 1 day 13h 18m and (6+°*/s;s or 1+'%/;4 chalakim).

Year 1 of 19 to year 16 of 19 maximum = exactly 10/19 of amolad interval = closest fraction to '/, molad interval.
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